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Chip 0 Vt50 at 2.00fC Nent = 128    
 1.149 ±Constant = 10.62 

 0.2126 ±Mean     = 187.7 

 0.1503 ±Sigma    = 2.405 

Chip 0 Vt50 at 2.00fC Nent = 128    
 1.149 ±Constant = 10.62 

 0.2126 ±Mean     = 187.7 

 0.1503 ±Sigma    = 2.405 
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Chip 1 Vt50 at 2.00fC Nent = 128    
   1.3 ±Constant = 11.96 

 0.188 ±Mean     = 185.4 

 0.1329 ±Sigma    = 2.118 

Chip 1 Vt50 at 2.00fC Nent = 128    
   1.3 ±Constant = 11.96 

 0.188 ±Mean     = 185.4 

 0.1329 ±Sigma    = 2.118 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 1.265 ±Constant = 11.64 

 0.1931 ±Mean     = 183.7 

 0.1365 ±Sigma    = 2.176 

Chip 2 Vt50 at 2.00fC Nent = 128    
 1.265 ±Constant = 11.64 

 0.1931 ±Mean     = 183.7 

 0.1365 ±Sigma    = 2.176 

Vt50 (mV)140 150 160 170 180 190 200 210 220 230

n
(C

h
an

n
el

s)

0

2

4

6

8

10

12

14

Chip 3 Vt50 at 2.00fC Nent = 128    
 1.038 ±Constant = 9.551 

 0.2354 ±Mean     = 186.6 
 0.1664 ±Sigma    = 2.652 

Chip 3 Vt50 at 2.00fC Nent = 128    
 1.038 ±Constant = 9.551 

 0.2354 ±Mean     = 186.6 
 0.1664 ±Sigma    = 2.652 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 1.125 ±Constant = 10.35 

 0.2172 ±Mean     = 184.2 
 0.1536 ±Sigma    = 2.448 

Chip 4 Vt50 at 2.00fC Nent = 128    
 1.125 ±Constant = 10.35 

 0.2172 ±Mean     = 184.2 
 0.1536 ±Sigma    = 2.448 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 1.114 ±Constant = 10.25 

 0.2194 ±Mean     = 187.7 
 0.1551 ±Sigma    = 2.473 

Chip 5 Vt50 at 2.00fC Nent = 128    
 1.114 ±Constant = 10.25 

 0.2194 ±Mean     = 187.7 
 0.1551 ±Sigma    = 2.473 

Gain (mV/fC)0 10 20 30 40 50 60 70 80 90 100

n
(C

h
an

n
el

s)

0

5

10

15

20

25

Chip 0 Gain at 2.00fC Nent = 128    

 2.404 ±Constant = 22.36 
 0.09968 ±Mean     = 56.47 
 0.07121 ±Sigma    = 1.124 

Chip 0 Gain at 2.00fC Nent = 128    

 2.404 ±Constant = 22.36 
 0.09968 ±Mean     = 56.47 
 0.07121 ±Sigma    = 1.124 
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Chip 1 Gain at 2.00fC Nent = 128    

 2.551 ±Constant = 23.47 
 0.09576 ±Mean     = 53.99 
 0.06772 ±Sigma    = 1.079 

Chip 1 Gain at 2.00fC Nent = 128    

 2.551 ±Constant = 23.47 
 0.09576 ±Mean     = 53.99 
 0.06772 ±Sigma    = 1.079 
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Chip 2 Gain at 2.00fC Nent = 128    

 2.048 ±Constant = 18.86 
 0.1192 ±Mean     = 54.12 
 0.08432 ±Sigma    = 1.343 

Chip 2 Gain at 2.00fC Nent = 128    

 2.048 ±Constant = 18.86 
 0.1192 ±Mean     = 54.12 
 0.08432 ±Sigma    = 1.343 
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Chip 3 Gain at 2.00fC Nent = 128    
 2.269 ±Constant = 20.88 

 0.1077 ±Mean     = 56.11 

 0.07613 ±Sigma    = 1.213 

Chip 3 Gain at 2.00fC Nent = 128    
 2.269 ±Constant = 20.88 

 0.1077 ±Mean     = 56.11 

 0.07613 ±Sigma    = 1.213 
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Chip 4 Gain at 2.00fC Nent = 128    
 2.692 ±Constant = 24.77 

 0.09076 ±Mean     = 54.09 

 0.06418 ±Sigma    = 1.023 

Chip 4 Gain at 2.00fC Nent = 128    
 2.692 ±Constant = 24.77 

 0.09076 ±Mean     = 54.09 

 0.06418 ±Sigma    = 1.023 
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Chip 5 Gain at 2.00fC Nent = 128    

 2.279 ±Constant = 20.96 
 0.1074 ±Mean     = 55.12 

 0.07604 ±Sigma    = 1.209 

Chip 5 Gain at 2.00fC Nent = 128    
 2.279 ±Constant = 20.96 

 0.1074 ±Mean     = 55.12 

 0.07604 ±Sigma    = 1.209 
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Chip 0 Extrapolated Offset Nent = 128    

 3.415 ±Constant =  31.3 

 0.2289 ±Mean     = 73.88 
 0.1619 ±Sigma    = 2.569 

Chip 0 Extrapolated Offset Nent = 128    
 3.415 ±Constant =  31.3 

 0.2289 ±Mean     = 73.88 
 0.1619 ±Sigma    = 2.569 
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Chip 1 Extrapolated Offset Nent = 128    
 3.481 ±Constant = 32.03 

 0.2246 ±Mean     = 76.35 
 0.1588 ±Sigma    = 2.531 

Chip 1 Extrapolated Offset Nent = 128    
 3.481 ±Constant = 32.03 

 0.2246 ±Mean     = 76.35 
 0.1588 ±Sigma    = 2.531 
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Chip 2 Extrapolated Offset Nent = 128    
 3.526 ±Constant = 32.45 

 0.2217 ±Mean     = 76.04 
 0.1568 ±Sigma    = 2.498 

Chip 2 Extrapolated Offset Nent = 128    
 3.526 ±Constant = 32.45 

 0.2217 ±Mean     = 76.04 
 0.1568 ±Sigma    = 2.498 
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Chip 3 Extrapolated Offset Nent = 128    

 3.727 ±Constant =  34.3 
 0.2097 ±Mean     = 73.69 
 0.1483 ±Sigma    = 2.364 

Chip 3 Extrapolated Offset Nent = 128    

 3.727 ±Constant =  34.3 
 0.2097 ±Mean     = 73.69 
 0.1483 ±Sigma    = 2.364 
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Chip 4 Extrapolated Offset Nent = 128    

 3.468 ±Constant = 32.14 
 0.2234 ±Mean     = 74.88 
 0.1582 ±Sigma    = 2.522 

Chip 4 Extrapolated Offset Nent = 128    

 3.468 ±Constant = 32.14 
 0.2234 ±Mean     = 74.88 
 0.1582 ±Sigma    = 2.522 
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Chip 5 Extrapolated Offset Nent = 128    

 3.561 ±Constant = 32.77 
 0.2195 ±Mean     =  74.7 
 0.1552 ±Sigma    = 2.474 

Chip 5 Extrapolated Offset Nent = 128    

 3.561 ±Constant = 32.77 
 0.2195 ±Mean     =  74.7 
 0.1552 ±Sigma    = 2.474 
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Chip 0 Input Noise at 2.00fC Nent = 128    
 6.266 ±Constant = 57.43 

 2.599 ±Mean     =  1427 

 1.838 ±Sigma    = 29.18 

Chip 0 Input Noise at 2.00fC Nent = 128    
 6.266 ±Constant = 57.43 

 2.599 ±Mean     =  1427 

 1.838 ±Sigma    = 29.18 
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Chip 1 Input Noise at 2.00fC Nent = 128    
 5.947 ±Constant = 54.72 

 2.739 ±Mean     =  1436 

 1.936 ±Sigma    = 30.86 

Chip 1 Input Noise at 2.00fC Nent = 128    
 5.947 ±Constant = 54.72 

 2.739 ±Mean     =  1436 

 1.936 ±Sigma    = 30.86 
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Chip 2 Input Noise at 2.00fC Nent = 128    
 5.451 ±Constant = 50.16 

 2.988 ±Mean     =  1468 

 2.113 ±Sigma    = 33.67 

Chip 2 Input Noise at 2.00fC Nent = 128    
 5.451 ±Constant = 50.16 

 2.988 ±Mean     =  1468 

 2.113 ±Sigma    = 33.67 
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Chip 3 Input Noise at 2.00fC Nent = 128    

 6.092 ±Constant = 56.05 
 2.674 ±Mean     =  1427 
 1.891 ±Sigma    = 30.13 

Chip 3 Input Noise at 2.00fC Nent = 128    

 6.092 ±Constant = 56.05 
 2.674 ±Mean     =  1427 
 1.891 ±Sigma    = 30.13 

Input Noise (ENC)0 500 1000 1500 2000 2500
n

(C
h

an
n

el
s)

0

10

20

30

40

50
Chip 4 Input Noise at 2.00fC Nent = 128    

 5.364 ±Constant = 49.35 
 3.037 ±Mean     =  1437 
 2.147 ±Sigma    = 34.22 

Chip 4 Input Noise at 2.00fC Nent = 128    

 5.364 ±Constant = 49.35 
 3.037 ±Mean     =  1437 
 2.147 ±Sigma    = 34.22 
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Chip 5 Input Noise at 2.00fC Nent = 128    

 4.781 ±Constant = 43.99 
 3.406 ±Mean     =  1361 
 2.409 ±Sigma    = 38.39 

Chip 5 Input Noise at 2.00fC Nent = 128    

 4.781 ±Constant = 43.99 
 3.406 ±Mean     =  1361 
 2.409 ±Sigma    = 38.39 
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Chip 0 Vt50 at 2.00fC Nent = 128    
 1.091 ±Constant = 10.03 

 0.224 ±Mean     = 187.8 

 0.1584 ±Sigma    = 2.525 

Chip 0 Vt50 at 2.00fC Nent = 128    
 1.091 ±Constant = 10.03 

 0.224 ±Mean     = 187.8 

 0.1584 ±Sigma    = 2.525 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 1.212 ±Constant = 11.15 

 0.2016 ±Mean     = 185.8 

 0.1425 ±Sigma    = 2.272 

Chip 1 Vt50 at 2.00fC Nent = 128    
 1.212 ±Constant = 11.15 

 0.2016 ±Mean     = 185.8 

 0.1425 ±Sigma    = 2.272 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 0.9911 ±Constant = 9.155 

 0.2465 ±Mean     = 185.1 

 0.1743 ±Sigma    = 2.789 

Chip 2 Vt50 at 2.00fC Nent = 128    
 0.9911 ±Constant = 9.155 

 0.2465 ±Mean     = 185.1 

 0.1743 ±Sigma    = 2.789 
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Chip 3 Vt50 at 2.00fC Nent = 128    
 1.122 ±Constant = 10.32 

 0.2178 ±Mean     = 186.3 
 0.154 ±Sigma    = 2.454 

Chip 3 Vt50 at 2.00fC Nent = 128    
 1.122 ±Constant = 10.32 

 0.2178 ±Mean     = 186.3 
 0.154 ±Sigma    = 2.454 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 1.144 ±Constant = 10.53 

 0.2135 ±Mean     = 190.2 
 0.151 ±Sigma    = 2.406 

Chip 4 Vt50 at 2.00fC Nent = 128    
 1.144 ±Constant = 10.53 

 0.2135 ±Mean     = 190.2 
 0.151 ±Sigma    = 2.406 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 1.157 ±Constant = 10.64 

 0.2112 ±Mean     = 185.8 
 0.1493 ±Sigma    =  2.38 

Chip 5 Vt50 at 2.00fC Nent = 128    
 1.157 ±Constant = 10.64 

 0.2112 ±Mean     = 185.8 
 0.1493 ±Sigma    =  2.38 
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Chip 0 Gain at 2.00fC Nent = 128    

 1.788 ±Constant = 16.45 
 0.1366 ±Mean     = 56.35 
 0.09663 ±Sigma    =  1.54 
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 1.788 ±Constant = 16.45 
 0.1366 ±Mean     = 56.35 
 0.09663 ±Sigma    =  1.54 

Gain (mV/fC)0 10 20 30 40 50 60 70 80 90 100

n
(C

h
an

n
el

s)

0
2
4
6
8

10
12
14
16
18
20

Chip 1 Gain at 2.00fC Nent = 128    

 2.232 ±Constant = 20.54 
 0.1094 ±Mean     = 55.77 
 0.07739 ±Sigma    = 1.233 
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